Exercices - Logarithmes et exponentielles

= Résoudre

1) In*(x) - In(x) =2 =0

2) In*(x) = 3In*(x) +2=0
3)In(x —4) + In2x - 3) =21In(5)

4)InQ2x - 3) - In(x — 4) = 2In(5)
5)2In(x - 3) + In(x - 1) = In2x - 2)
6) 20 In’*(x) - 16In(x) + 3 =0

7) 4% = 2% _128 =0

8)3%* +3 =12
9) logx(\/?) =3
13

10) logé(x) +log (6) = Z

1
11) 210g4(x +1) + log4(x +3)= log4(6x +2)+ —
2

12) logz(x -1 = log4(3)

1
13) 10g7(3x -H=--
2

14) 10g3(10g4(x)) =-1

15) log, (log,_(81)) = 2

16)e* —4e™*-3=0

17)log, ,(5x) =2

18) 10" + 10** =5

19) 81 + 81" = 30

20) loglo(x +1)-2= 10g5(0.2)

1-x?

21) logl[ ] < log3(x)

X

22)4 - In*(x) <0
23) In(x) — In(2) < In(1 - 3 x)

In(x) +1

<0

24) <
1 -1In(x)

25) 21n’(x) = In(x) - 120
26)-3+2e*+e >0

1
27) —+ &1 >0
e

1 X
28) {—] -1 <0

e

x-1
29) 1n(x)+1n[ ]<O
x+1

30) In2 + €*) = In(4 - &%)

3)logiB3x—-1)<5



2 | exlogexp2.nb
T-x

32) 10g7f ) =0
1+x

33)log1(5) = x

34) logx74(4 x)=2

2

35)4 5" + =3

V5

= Solutions

1
DS={-,e%

e

1
2)8 = {_/ e, @_\/2_/ E\/7}

e

13
3)S=1{—]
2
97
4S={—)}
23

5)S={3+4/2 )
6)S =1, e

7)S= {4}
8)S=1{1,2}

95= (2 )

1005 =166 , 6%
1)S={1,-3+2+/2}
12)S= (1++/3 |

1

13)S = {£(7+\/7)}

14)S = {273}
15)S= {3}
16)S= {2In(2)}

1
17)S = {—(7+3\/?)}
2
18)S = {0.4458 )
13
195 ={-, -}
14
20)S = (9.
21)$=0

1
22)S=10, —1U [ —
@2

2
23)5=10, -]
7

1
24)S=10, -1U le, —
e



exlogexp2.nb |3

1
25)82 ]O/ _] U [er i
e

26)S = «—,0[ U JIn(2), —
27)S =R

1
28)S=[-, —
4

29)S=11,1++/2 [

30)S =10, 2In(2)[

1042
3S=[—,—
3125

32)S=1-1,0]
33)S={-1}

3)S=(6+245 |

21In(2)

355={0, }

In(5)



